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The three pie charts

You should spend about 20 minutes on this task illustrate the annual

The three pie charts below show the changes in annual i
UK school in 1981, 1991 and 2001. 4 T T ST total - school Spendlng
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r;"":= salaries decreased
gTadually.[ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, Comment [z1]: This doesn't belong here;
it belongs in the body of the essay of the
One of the most striking features is that almost half amount of spending was shared by report; it is not part of overall summary

-

teacher’s salaries through the h)eriodsL In 1981, teacher’s salaries was 40%. It rose upto
50% in 1981 and-fel+ fell to 45% in 2001.

Comment [z2]: you said this already in

the introduction

Another—neticing— noticeable fact is that furniture and equipment, and resources

fluctuated, while other worker’s [salaries\ continuously decreased. The proportion of [Comment [23]: percentage needed

furniture and equipment, and resources were 15% respectively in 1981. Furniture and ‘ [Form atted: Highlight
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equipment decreased to 5% in 1991 and jumped up to 23% in 2001. Resources slightly
increased to 20% in 1991 and plunged to 9% in 2001. Compared with the two types of

spending, other worker’s salaries gradually decreased from 28% t015% through the

periods. Insurance-reminded- remained minor- the lowest expenditure at below 8%

through the periods.
Grade Estimated
Criteria Grade
Task 7 Good overall summary
response all important data is included and highlighted well
Cohesion 6-7 The last sentence of the introduction should be in the body
and
coherence Try not to repeat what you said in your overall summary again in the body if possible
[you don't need to repeat it in this report]
Vocabulary 7 Errors with word forms/endings
spending throughout the three periods was
Another-netieing— noticeable fact
Grammar 8 Errors are rare
Insurance-reminded— remained minor— the lowest expenditure at below 8% through
the periods.
overall 7 The worst thing about this report was the last sentence of the introduction
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